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" This is term numbeér 4 since -

The .terrns.of a sequence are the.numbers or ltemsln :che .sequense. itis in the fourth position.

A term number gives the position ef eachitem. - - 0 Vs
| o 47101316

1. Draw a T-table for each sequence to find the glven term: U\% JA\@ W “C}w ‘3\‘«\3 ?a‘j&' .

a) Flnd the 5" term: 3, 8, 13, 18 ‘f"b) Fmd the 7" term: A42, 46, 50, 5,4,.,. .
.- Ben says thafthe gt term of_the seqUenoe 7,13, ;19,... bi'3453. Is he correct? Explain. . .
. Find the missing terms,in each sequence.

a) 812, . .20 - b) 4, __ -, - .26 .

GOy S, 2, A9, Tt

| - Term % : Teh ' “Term E Each T-Table was'made by
- Number erm ' Number . | - - """ .| adding a number repeatedly.
I R B O 25 .. :

Find and.correct any mistakes

- B L2 B | inthetables.

3. 1 18- 1 3 34 ; o .
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~a) How many pentagons does she need to make 7 ornaments'?

b) Rita used 6 hexagons to make, ornaments
How many tnangles and pentagons did she use'?

c) ‘Rita used 36 pentagons. How many tnangles did she use? .
6. ‘.A‘n:e'wborn Siberian Tige'r cub weighs~,1 300 g. It gains 100 gﬂa day. - -
. ‘A newborn baby weighs 3 300-g. It gains 200 g every week.. =
-a) A cub and-a baby are born on the same day. Who weighs more after...

i) 2weeks? . i) 6weeks?

b) After‘hov"v many Weekswodld the cub and the baby have the same weight? )
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